3GPP TSG T WG1 #26
T1-050227
Bangalore, India

31st Jan- 4th Feb 2005 

Source:
Anritsu 
Title:
DPCH_Ec/Ior power in 8.5.1 test case

Document for:
Discussion
1. Introduction
In 8.5.1 UE Transmit timing, the purpose of the test is stated as below .
8.5.1.3 Test purpose

The purpose of this test is to verify that the UE initial transmit timing accuracy, maximum amount of timing change in one adjustment, minimum and maximum adjustment rate are within the limits specified in 8.5.1.2.
However, it considered to be very difficult for UE to operate with the test parameter of table 8.5.1.1 during 8.5.1.4.2 procedure step 13, because the downlink condition becomes very severe. And, the purpose of the test may be neglected and may not be verified.  

2. Discussion

 In 8.5.1.4.2 procedure step 13, UE established with only Cell 2, and Cell 1 is introduced. In this situation, the power of Cell 2(-96 dBm) is lower than the power of Cell1(-93 dBm), and the downlink power of cell1 is considered as very severe interference to UE. From the procedure, the power of Cell 1 can be considered as Ioc, and Ior/Ioc can be estimated as -3dB.

 Also, in the test parameter of table 8.5.1.1, the lower values are specified comparing to 7.2.1 Demodulation of Dedicated Channel (DCH).

 Comparison of 8.5.1 and 7.2.1 test cases


8.5.1 (TS34.121)
7.2.1 (TS34.121)

Noise Floor
-99dBm
-99dBm

Ioc
-
-60dBm

Ior1
-96dBm
-61dBm

Ior2
-99dBm
-

DPCH_Ec/Ior
-17dB
-16.6dB

Io
-93dBm

(NF+Ior1+Ior2)
-57.5dBm

(NF+Ior1+Ior2)

DPCH_Ec/Io
-23dB (at step13)
-20.1dB

BELR on DTCH
>>0.01(at step13)
0.01

BELR on DCCH
>>0.01(at step13)
~0.01

So, UE reciver is operating in very sensitive level in 8.5.1, and needs to pass harder requirement than the Performance test case. From these very poor downlink condition, it consider to be difficult for UE to demodulate DPCH with Error Free. 

 In the actual test, Anritsu also confirmed that UE does not demodulate DCCH correctly. And, after procedure step 13, UE drops the call. Therefore, the purpose of the test can not be completed, and good UEs fail 8.5.1 test case. 

3. Proposal

Anritsu proposes that T1 sends a LS to RAN4 for explaining the problems with 8.5.1 test case, and suggesting that a possible solution could be to change DPCH_Ec/Ior to -12dB. 
Also, Anritsu proposes that T1 prepares provisional CR to change table 8.5.1.1. to DPCH_Ec/Ior = -12dB and approves conditionally for RAN4#34.

























































